N SN =HSAD
L AEI9IF DREUE S8 AWYE 2T
L Y=XY B Lst

&) LR
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
= MS&tt 11,714,325 15,020,740 A3,306,415
- 70,000
= 11,644,325
ol uREUE St ZHEE =& 3,098,389 3,091,885 6,504
ZXs BNEd Zat 441,210 490,240 /49,030
=AY RAY SRH WA2R 57,940 57,240 700
201 &8t2E | 20,700 20,000 700
01 AtR2t2lH] 20,700 20,000 700
OA=XNLHF A ST A U2 S 20,700
202 04l 3,640 3,640
01 2UHOIHI 3,640 3,640
OU=AYET e 23 XA 3,640
310 =201 33,600 33,600
2 N2 33,600 33,600
I=NLEF A S22 HEH N3 33,600
I+ 23 & 2 243 16,000 16,000 0
310 =2/01& 16,000 16,000
2 =H=2e2 16,000 16,000
O=MII7 Azl 16,000
ASE AE HE +2HE &2 84,000 120,000 36,000
308 XXM SOIA 84,000 120,000 36,000
11 S 2S0HeHE & A A A 84,000 120,000 A36,000
OX=Y A M =218 &= 84,000
2==s 24 220,270 216,000 4,270
308 MXIEHMS0IE 220,270 216,000 4,270
11 SIS0 U3 SRS A 220,270 216,000 4,270
ogz==% 29 220,270
CU 243 d2AME SIEYSS = 63,000 81,000 18,000
308 AFXIEHMSOIE 63,000 81,000 18,000
11 S 2SHUSESEASAISH 63,000 81,000 18,000
OZU 245 L2AME o|EHSE =2 63,000
F0I=XS BHEe Zat 1,599,384 1,510,000 89,384
20l=d S gda X3 228,520 150,000 78,520
308 AXIHHSOIA 228,520 150,000 78,520
11 SIS0 U3 4R AS A 228,520 150,000 78,520
Oodliel FEH0I0 =& A JI1g X2 228,520
HHOI24tH =2401Y |4 X 300,000 300,000 0
308 AXIHHSOIA 300,000 300,000
01 XN B EES 300,000 300,000
oty 22EIY s4 XA 300,000
Ol=2% 28 763,360 800,000 N\36,640
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=: ZH= 2A =S
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S HE Sst
Cel: DOIFENS FRE 23 (SHol: &)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
308 AFAIEHMISOIE 763,360 800,000 A\36,640
11 3 [2S0 et 3 4R AS A 763,360 800,000 A36,640
oll=2% 23 763,360
clAlOl=ZR 29 307,504 260,000 47,504
308 NHXIEMISOIE 307,504 260,000 47,504
11 SIS0 US4 RS A 307,504 260,000 47,504
OciAlo=® 29 257,504
O=SdAIOF 2EEH 24 50,000
SHOHIE Mg Hat 570,325 528,325 42,000
OFAIOF AIE JHH 163,825 163,825 0
201 &2gH=2E| 3,825 3,825 0
01 At2teH] 3,825 3,825 0
OANENE =& LBt=F| 3,825
308 AXIHHSOIA 160,000 160,000
11 SIS0 US4 RS A 160,000 160,000
odlgy AlY dE X2 160,000
HEE=S 29 326,500 304,500 22,000
308 AHRIEMSOIE 326,500 304,500 22,000
11 S 2SI B4 H A A 326,500 304,500 22,000
OHE==% 29 326,500
S0 2A4E2 =2Y 80,000 60,000 20,000
308 XXM SOIA 80,000 60,000 20,000
11 SIS0t AAS A | 80,000 60,000 20,000
OS=0t 2232 2Y 80,000
—Musset 23t 487,470 563,320 AT5,850
OHEHXIY XIEIIsSEAS =& 36,980 36,980 0
201 fer23| 30,500 30,500
01 At22t2|H] 3,000 3,000
o1ty 29 3,000
02 S3=gHl 1,000 1,000 0
Odlel fE= &5 1,000
03 A2 I 26,500 26,500 0
O%=uM M= & ZA+E S 26,500
202 04l 4,080 4,080
01 2LH oI 4,080 4,080
O%=1y 24 & 2472 4,080
301 LetEd s 2,400 2,400
11 #AIAMHIXIE =S 2,400 2,400
OZ=F AL &Hl X2 2,400
telgs & 0IE Het 361,200 365,200 24,000
201 gr=2E | 8,500 12,500 24,000
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= dH= SA IHSHL
B SA|U DS S8 22 LBAF HE
¢ =23y L9 (Ete M)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
NASs FEHRANEIILE (IO TIY) 30,000 30,000
307 @120l & 30,000 30,000
02 2B A HE R 30,000 30,000
OXNESst FARFAEIHILIAE 30,000
=E29g 23 A HA0BHE = 13,000 13,000 0
201 Ler23| 8,000 8,000
01 AtR2telH] 8,000 8,000
O A0HAIE KIZAME HHZHXF HIZ 8,000
202 048l 5,000 5,000
01 =LHOHI 5,000 5,000
O+==J|g g& & FHI|& GRE2 5,000
L =20|g MEE ALY RAES 27,500 27,000 500
202 Ot 500 0 500
01 =LHO1Y| 500 0 500
OAAE SXE(3RH) 370
OSFH ZHFEAL B0 X2 130
308 AHRIEMSOIE 27,000 27,000
11 S| 2SO0 ZBSHASAIE 27,000 27,000
oL +=EJIE MEE ANAE RAES 27,000
oiel =cte! OBHE XI& 409,600 509,600 100,000
201 er=3 | 9,600 9,600 0
01 A2l 8,400 8,400 0
Oodfiel =2ctel OlE X 8,400
02 35234l 1,200 1,200 0
Odliel =2ctel OE X3 1,200
308 AtXIEHMSOIE 400,000 500,000 100,000
1 SISty AS A 400,000 500,000 100,000
odhel =ctel OIE X2 400,000
ofiel =ctel =& S A= 546,500 2,446,500 1,900,000
308 AHRIEHMISOIE 546,500 2,446,500 1,900,000
11 B [2S0 et 3 4RSS A 546,500 2,446,500 1,900,000
OZ22¥ LIXNE AKRMLL 24 200,000
O=2=28 dXtaHeH AME A 346,500
CIXIEAHNA M2I12 EX2S (AT XE) 550,000 0 550,000
307 el2to| & 550,000 0 550,000
02 2IZHBAAIHE X 550,000 0 550,000
OLXEHHA dE3I|& EX=2g 550,000
=28 UEAI = 552,000 513,800 38,200
sSoEF 29 437,000 350,000 87,000
308 AHAIEMSOIE 437,000 350,000 87,000
11 S| 2SI B S HAS A 437,000 350,000 87,000
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A= A= A =HSA
B SAD|E DES S8 22Y SEAF NE
&l =228 HER3 4= (chel: &)
AT A ZH . SR(E) - KIRAIY - BSS ol ke i fimE=T
| oz=== e 437,000
== MR 452 22 115,000 163,800 248,800
308 AtXISHMSOIH 115,000 163,800 248,800
11 312 S0 HEHE & E &AL 115,000 163,800 A48,800
0= 2N Y2z 24 115,000
=228 23 HERA JIgt =5 321,500 154,570 166,930
US4 435t 321,500 154,570 166,930
tHetel= AIEXIALES S 283 NR 113,000 99,100 13,900
201 2Er2Z ] 113,000 99,100 13,900
02 2324l 113,000 99,100 13,900
OAIE ZHs XNJIIs =E=3 113,000
=22 A =i Z3t 202,000 2,550 199,450
202 Odt| 2,000 2,550 A550
01 =WHO4H| 2,000 2,550 ABR0
O34 A Ast 2,000
308 AXIHMSO0I& 200,000 200,000
11 BII2SOICHEHE A XS AL 200,000 200,000
OFYE M7 ey T2 200,000
s X9 EHY 23t 6,500 8,620 AN2,120
201 2Er2Z ] 3,000 4,620 21,620
01 AtR2telt| 1,500 2,520 21,020
OS&NF AHFA 1,500
03 &A+2EH| 1,500 2,100 A600
OS&NF AEFA 1,500
202 Ot 3,500 4,000 A500
01 =4I 3,500 4,000 A500
OsS&uUFE AIFFA 3,500
AR SAF =29 L5 3,196,300 3,024,500 171,800
= 70,000
= 3,126,300
sttt == 43 X2 3,196,300 3,024,500 171,800
= 70,000
= 3,126,300
A2 GHRAAE W AR(2 D) 140,000 128,000 12,000
= 70,000
& 70,000
307 2I2t01 A 140,000 0 140,000
= 70,000
& 70,000
02 QIRHEAAIHE = 140,000 0 140,000
O=4t2 SHAAZ IHEALS 140,000
= 70,000
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A= FH=2 2N SMSAL
M HE2LIU(SHSAD)
chel: ol 2g| CERE)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
| onssl 100,000 * 128 12 1,200
SHEAISSME ME2 23 29 124,495 119,775 4,720
101 eI244| 124,495 119,775 4,720
03 BRH(RINHS) 222+ 124,495 119,775 4,720
©P k== 83,528
@)=2= 2,446,650 1B 63 14,680
O3 2,417,610 18«63 14,506
ouss 2,386,730@x1Hx 128 28,641
o8z = 2,163,4102x1Z 62 12,981
Orss 2,119,850 * 1B +6& 12,720
(OFSE=E = 6,214
oss 2,446,650 *50%* 12| 1,224
Obss 2,417 ,610& +50%* 12| 1,209
Ols= 2,386, 7302 *50%*23] 2,387
O8s3 2,163,4102x35%* 13| 758
orss 2,119,850& *30%* 13| 636
O XIREF I+ 3,724
O1B~165S 109,3892 12« 1H 1,313
Ousz 106, 80421+ 12241 1,282
O7-852 94,01221% 122 +1% 1,129
OAlZIIZRAY
38, 77421 % 1500+ 10AI 2H+ 102 5.817
CEHEE R
38, 7743 *150%* 10A 2t 10 5,817
OFESIHI 8,355
Obz= 2,446,650% * 13| x60% 1,468
Obss 2,417 ,610& * 121 x60% 1,451
Ouus=s 2,386,730 x22] x60% 2,865
o8s= 2,163,4102* 13| x60% 1,29
ors= 2,119,850% *13] x60% 1,272
QJEY 2,400
O <Xt 40,0003 +3F 123 1,440
OFMXA 20,0003 x 18« 128 240
O=MAtH 60,0002 18+ 123 720
O=24ltl 140,000 *3F 122 5,040
(©InE={z] 100,000 *3E x 12& 3,600
Jl2&l 101,126 49,931 51,195
2A2E J|=23hl 52,326 46,131 6,195
201 Ler2Fd| 39,292 32,065 7,227
01 Ar22eltl 38,292 31,065 7,227
ORNEZZ AtR2teltl 38,292
02 =324l 1,000 1,000 0

- 338 -




od
3
OF
uJ

30 &
M OH R0
= R0
R0 &0 ~

W & o
A RO )

-

HwE

1,632
A1,632

600
600

45,000
45,000
39,600

5,400

s[EL
il &k o8

9,866
9,866

4,200
4,200

3,800
3,800
3,800

Ofl &8

1,000
8,234
8,234
8,234
4,800
4,800
4,800
3,800
3,800
3,800
3,600

200
45,000
45,000
39,600
39,600

5,400

5,400

R

- SR1(3) - HIRAHY

29438

A
=

30
OH
[0
[0

30
OH
3

202 04l

01 ZLHA LI

=0

30
0B

IF

A

x4
K-
o
D

KJ
Kt
ok
ol
30
0B

Ik

400,000+ 128

30
OH

<N

80
0H
oJ
oll

01 AtR:2teld]

80
0H
J
oll

01 AtR22t2ltl

0o

- 339 -



